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Instructions —
i.  All questions are compulsory.
ii.  Read the instructions of the question paper carefully andeaiiber questions.
ii. Q. No. 1 to 4 are objective type which include - chobsedorrect answers, match the
column, Fill up the blanks and one sentence answer. Eeshion is allotted 5 marks.
iv. Internal options are given in Q. No. 5 to 1& 8 = 5x 4 = 20 Marks.
v. Q. No.5to 8 are assigned 2 marks each.
vi. Q. No. 9to 13 carry 4 marks each and answer should ba givabout 75 words.
vii. Q. No. 14 to 16 carry 5 marks each and answer should be igiedout 120 words.
viii. Q. No. 17 to 18 carries 6 marks and answer should be givebout 150 words.



R 1.

TS RS T A Rl W fApedt § 9 98 IR g g |
@) PICH BT AR AT THTIT BEAAT & —

(i) wreT e (i) TRUTIR =T
(iii) @re AT (iv) =rT ATef
@) AYH BT G/ T —
(i) A= (ii) ATeTaRAT
(iii) reRA (iv) T
@) 9y o g A SuEnEf ® —
(i) errT (ii) T
(iii) zrotra (iv) a=<=

(@ ol gRRe WRE § -
(i) WfsTw I=~ige (ORUSEERESESIES]
(i) TeRH Aewe (iv) IR TggaTsS
(5) &7 gRa®! &1 ST BT § —
(i) y—deror ¥ (i) <t = #
(iii) ProT T H (iv) & A= F
Choose and write the correct answer from the followingrgiygtions.
(a) Chemical which killed the insect is called -
(i) Herbicide (ii) Weedicide
(iii) Insecticide (iv) Fungicide
(b) The family of Mushroom is -
(i) Germaine (ii) Malvaceae
(iii) Solanaceae (iv) Agaricaceae
(c) Useful for making Bio-diseal is -
(i) Leman grass (i) Mentha
(iii) Jetropha (iv) Chandan
(d) Fruit preservative chemicals is -

(i) Sodium benzoate (i) Sodium Hydroxide



U= 2.

URA 3.

(e) Field book is used in -
(i) Land survey (ii) Making perpendicular
(iiiy Making angle (iv) Measuring distance
Ret Tl @ gff AR
0]
(i) 9RT ¥ AAifEd ST S ATl FIRHA.......... 2l
(i) BT TIAN oo BA BT T T |
(v) TP THRI T H THe B B |
V) fea ¥ Gaife QAT ST aTel 39 2
Fill in the blanks.
(0] Full name of BHC is.............
(ii) Highest grown Mushroom in India is............
(i) The family of white musali is............
(iv)  One hectare area have a ........... acars.
v) The maximum mentha producing country in the weld.........

(iii) Potassium sulphate (iv) Potassium hydrexid

Th I § SR ey |

0]

(i)
(iit)
(iv)
v)

e e s 5w &1 AT 7?7

SIS BT qIS A R 8?7

Ufdes g Bell & I I g aren @rg gerel R/ g?
SN BT A forfag |

T ST @ e forfay |

Write the answer in a single sentence.

(0]
(i)
(iii)

Which crop having the red rot disease?
What is Botanical name of Isabgol?

Which fruit product is prepared by the fruit juice witlctin.



R 4.

URE 5.

(iv)  What is full name of KCC.

(v) Write length of Gunter's chain.

frferRaa a1 8 Sifsat aara—
3 - g
@) TRTIT BT HROT - Bl
@ 53T - ST B B
@) T faee - FeerT ardfaa
(8) S - TET TS
(5) U - qIRH
- eI
Match the right pairs.
A - B
(a) Cause of Khaira disease - Banana
(b) Ink capus - Deficieny of Zink
(c) Panama wilt - Mentha arvensis
(d) Solenesi - Atropa belladona
(e) Mentha - Mushroom
- Ashwagandha

TRUGIRT | a1 gt faRae |

Write down the two disadvantages of weeds.

arerar
Or
=8 1 TRUqaRt & A fIfag |

Write the any two names of weeds.
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R 7.

U= 8.

U= 9.

Pl T o & 9w dsnfae At & am ey |

Write the name of any two agronomical methods of inseatrol.

3rerar
Or
for=gl a1 Bae-meht A & A ey |

Write the name of any two fungicide.

el gRReroT @7 g ey |

Define fruit preservation.

31T
Or
AT &1 aRvm faRag |

Define Blanching.

WEHIRAT & <7 Aged ey |

Write any two importance of co-operating.
31T
Or

TERIRGAT & BIg aT Rigid foRkaw |

Write any two principals of co-operating.

a9 e o @R st & 9 fafag

Write the names of four methods of underground drainage.

[EI



U= 10.

U 11,

U= 12.

or
STl R & gRMTYT Td 59 WR Y9I STl dTel OIF BIR&T & AT

ferRag |

Write the definition of drainage and three names of facféestang it.

AT @ R forRag | swa 9 @ faReag |

Define is blanching? Write down its three advantages.

Jrerar

Or
el Wl RRe™ & 09 o faRaw| i e aRRes &1 M
ey |

Write down three advantages of fruit and vegetable praen. Give the name

of any one preservative.

arreet gRaTeN &) fPvard iRy (@1E 4 )

Write characteristics of well planned lawn. (Any four points)

AT
Or

ERaT ¥g ScW TN & e iRy | (@1E 4 favg)

Write good characteristics of grass for lawn. (Any founts)

qERIfID TRV A IR o foRaw |

Write down four advantages of vegetative propagation.

[EI



U= 13.

U= 14,

U= 15.

or
P UG S HAH H BIs IR IR foTRav |

Write down any four differences between cutting and layering

P T @ FifFe A fareay |
Write mechanical methods of insect control.
3T
Or
PHleATLDl B ST H TgAd B W dell B g At
ferfeag |

Write any five precautions which should be taken dutireguse of insecticides.

SR STell @I Ui fRIvay faRay | (rg uiw)

Write five characteristics of good Jelly. (Any five)

aFerar
Or
THER B AR TG qHI JAqeaD AreEnt Ry | (@ ur)

Write essential precautions during the preparation of Toseice. (Any five)

7O 5 ®Ed 2?7 39 IR SUAnT foRag |

What is Papain? Write four uses of Papain.

Srerar
Or

Bel B Tl BT gu BT —

(i) arfa® ™ T g

(i) S=Toefier fret (@13 <)



U= 16.

(i) aTTeufae g @) <1 faftRl @ A

(iv) @1 31 7 & AW

(v) BT 3T EBRS BIei & A4

Describe the cultivation of Banana -

(i) Botanical name and family

(i) Improved varieties (any two)

(iii) Any two names of methods of vegetative propagatio
(iv) Name of any two diseases

(v) Name of any two harmful insects.

AREE @ Wl @1 gl e efidet § @i |
(i) arTafas A
(i) S=Taeie fret (@18 Q)
(iii) 95T TR /BRI
(iv) SUsT /BRI
(v) g T I
Explain the cultivation of Soybean under the followings.
(i) Botanical name
(i) Improved varieties (Any two)
(iii) Seed rate/hectare
(iv) Yield/hectare
(v) Sowing time.
3T

Or
g1 @1 o1 I Fr 27 399 B 9 B e o faRag |
What is transplanting method in Paddy. Write any three adgest of
transplanting.



g 7. Ol GRGRE & IR SR fafag | 6 we 9 91 an falkay |
Write down four functions of Phosphorus in Plants. téVtwo advantages of
green manure.

3T

Or

o W e # feweft fafee—
() e ¥ PR & < Bt
(i) oYt 7 FES @ Q1 B
(i) 987 T T PHRE S P QT Ao
Write down short notes on the following.
(i) Two functions of Cu in plants.
(i) Two functions of Mn in plants.

(iiiy Any two importance of Vermi compost for soil.

I 18, I @ Sl BT qoie frferRad e @ sraa @i —
(i) arTafas A
(i) S~Iaefier st (@1 <)
(iii) =R
(iv) SUsT /BT
Explain the cultivation of gram according to the pointsegibelow -
(i) Botanical name
(i) Improved varieties (any two)
(iii) Seed treatment
(iv) Yield/hectare.
3T
Or
T B TS B g BT | SR B arel &1 @ faRed |

Define is Ratooning? Write down two advantages of Ratapn
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TS T B IR —
IR 1. TS ge T —
@) @A
@ e
(@) xawoia
@ wfemw s=ige
® e #
TAF HEl SR W 1 3(F & 99 T R 5 3IF
IR 2. R 3o —
() N T FARIES
(i) I geq HITHH
(i) forforo=dy
(iv) 247 Ube
(v) =@
TAF HEl SR W 1 3(F & 91 T R 5 3IF

IAR 3. TP ag H SR —
() o ST T B FHA BT THE AT B |

(i) S BT RIS AH VSR J7ameT R |
(i) UfcT gad well B T F Sl TAR B ST |
(v) A T g AW FEE Biee TR 2|
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SN 4.

SISAEA

X 6.

(v) T SRI9 B TS 66 B B 2
TAF HEl SR W 1 3(F & 99 T R 5 3IF

|E Shfsar —
3 - ¥
@) BRI IT BT BRT - ST BT BH
@ 3% Iw™ - HITHH
@) U faee - Pl
(@) e - argaten
® O - o adfea
TAF HEl SR W 1 3(F & 99 T R 5 3IF
WRUAARI ¥ < FIfE —
1. =T ST BT AT B |
2. T&T WNE Tt BT FEA B
Fdergar Sar forem W 2 3w ura &
arerar
W A & A WRUAAR —
1. B
2. 9T
3. TSl
fdergar Sor forem W 2 3w ura &

P e @ < T Rt -
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SISANA

&N 8.

1. HA! B Bic |

2. B T |

3. B BI Sl B aaqT |
Fdargar Sor forem W 2 3w ura @
perar

U FHERN I B AW —

1. oTgA

2. TR IS 78

3. T UH 45

FrdergeR IR form W 2 3% ww B

Tl URReT — AfeTat a1 welt B Wife srear wrfe faftEt g
AT 3T THI Th 59 THR G G+ a1fds Ton § B HH
T M, el YRRE HEer 2 |

Fdergar SorR forem W 2 3w ura &

3rerar

AIRI— fSe@mdal I Ugel Hell I Saend gy Url # FuiRd w7g a%

ST B a1 BT It U BT SUAR 3fRIET AT BEd 2 |
FrdemgeR IR fores W 2 afF ww B

HEPIRAT BT Fed —
1. WEHIRAT Afaadl o 3o ¥ fieer i ¥ @ R << 2
2. |EHIRal & iyt vd Aeewell @Y | § o B B
Fdergar Sor forem W 2 3w ura @
13



X 9.

X 10.

3JqAT
wEwRa @ RigiT —
1. AT
2. fwarefar|
FEagER IR foraw W 2 3f@ ura B

qfrra o P @ Al & 9w —
1. TR § |
2. WH 59|
3. A s
4. UIY 97|
rerar
o e @ IRa — BEd B IR 98 =gy @) wds
31FAT T AT W ARG T B G w4 A AR b oI
[REISICECISIRS
AT ST 9Tl BRE —
1. 9 &1 e
2. qH &1
3. 9 @ B
|E GRATYT 1 3P, WE BRP W 3 iP [T SR Fel 8 R R 4
3 wTeT B |

AR B aRATT — R I I U Well dA AfeSTA BN IFAA
U O e fie a6 STer @l A @1 @i w2
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N 11,

T —
1. el Ud et Gerras o IRH 8 it 2

2. Sfiampeit #1 w@m B 8 Rl 2 |

3. Wall Ud Aferdl & e IuRRerd sifadis &9 8 oIkl 2 |

|E IR 1 3@, T AWM W 3 IJH T S<R WEl B W T 4
3% wTeT B |

aperar

He Heoll uRREr & fiF @ —

1. Wel U9 ool URREYT | HuBT B AR dgh B

2. ol Td Afsal B e W ad GRRIT @m o |adT 2 |

3. Sffargel @ e wF 8 o 2|

TS URReTds &1 9 (1) AT J98ie

wE GRATET 1 3@, T AWM W 3 IJH TN SwR WEl B W T 4
3 uTeT B |

et sRareh & faRvard —

1. BRI R a9, B, T R FETAT B IR Y@ § e 8|
2. el gifver & <fRa =)

3. gRaTel TRUgary, @e g It | yfad 7 g @Ry |

4. gRareh w<f, Wi, auf @ wE areht & |

5. BRI tF & UBR & ° @ B AR |

6. g arell TN A B

P TR v w9 e W 1 3iF B A W R 4 3% w8
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SISAPA

rerar
BRATE 2 S U B &I —
1. STed! @RI BT arelt B
2. it BT ST 37T ' |

3. oNudr & g arell 7

4. TG H GR DA 3R gI—w) & &

5. 3@, Wd, e, T |/ URRE 8
6. e & 915 MY gfg HeT arel & |
7. BOR U4 R # g arell 7 |

SRR T& 3 I3 TS el fIrg W 1 /6 & 919 9 R 4

qFfIS TR § AR —

3id g B |

1. 39 Y 9 duR Dt § O9e g9 & @l o7 fRemE B 2

2. 957 feq il @1 gaRer g fafy gRr |@ve g |

3. 0, Wel dred 9 3aT fOed # FH g I 2|

4. URY BRI WY St TR O Wahd B |

TS 79 FE g 1d SWAEER s 98 g W 1 55 &

A W R 4 3F o SR
perd

3. B (BHom)

<ME e

1 |z AR & S Feem 9 @@ &
TV I O B ThS PICHY 3T
IR o’ oI 2|

3 fafr § o e @&
SWIT IE AR B A1g e
A AT B B |

2 | 39H UT AR B A ®H 9Hd
I B |

S oETgRd S wHY
T B

3 |39 Y g™ S 9 dHeIR
B B

W A gv Sw= O
TR BT € |

LR CEE LSS SIS

3R OR B WE—dAT o
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YN 13,

SN 14.

AT T [ 3T IR R ST
gl

fs A1g O | ST e
T TR S 2

TS 7 FE g 7@ INTIER T30S Fel fag | 1 3% &

Fre i @t Tt fatei -

1. AR ERT T BT |

2. ¢ BT TANT ST

3. foOfay 2u &7 yanT @ |

4. YT MHYH TU BT TANT BT |
5. @IS Wi |

A9 ¥ R 4 35 U S|

I DS FEl T STFGER g e W1 i@ S AT A R 5

e g |

3JFqAT

Pl B ST ¥ A 9 arelt ATt —

1. TaRi & @ell f¥a 3rerar Jelf B T B <1 ARY |

2. @il & fosHE a1 FRPE Jag UM & A A1V |

3. TRl &1 foeda @rell U T8 e ARy |

4. TIRT B fSSHIT HRA THI gIU el HIAT AMRY |

5. TSl B gedl B Ugd | R @A ARy

I P AL 79 SR g e W1 3@ AT IAR 5

e g |

e S @ fagag —
1. el TEH # UR<TS B

2. fo 99 & RN S S BT MR T B o |
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SN 15.

3. B W S ¥ 7 U |

4. AN W HiUd! B |

5. Iy AT T | BIe W ATG BIET o FD |

I DS FEl T STFGER g e W1 i@ ST A R 5

3P wI B |

rerar

TACR 1 W S0 99T e A= —

1. 3T UH Y WRY THICR! BT YANT HAT TN |

2. AN BT AT B IO H T UHET AMRY |

3. QNT & Tl B AAT IS YANT HIAT A1 |

4. T BT YA ATEHAIAR TN BRAT A1 |

5 %, vdifes TRis dur Wit duiive 9 dAR BN @ 91
fetrr =Ry |

I BIE T T SRTAIER g R W1 3@ AT AR 5

3 AT B |

T @ IR — T @ Fed Bl 9 Y MaTeer den S9

AR i TeTef IR BT ¥, 99 TUA HEd 2 |

qU & SUERT —

1. AT UBM H|

2. A BT JoARIH A H |

3. U Heel fAdRE BT R B # |

4. dfdele g9 H|

I PIE L TF SRTIER g R W1 3@ AT AR 5

3F wI B |

18



SN 16.

AT

A P N FT oA —
1. IEEGS BT A — AT ORIRSRaTeT / 3T ddgues
B s SAUVER T
2. I e -  ERS, XA, yae, Ada
3. IS TR B fAftR— JaaR FaR, STl qos |
4. M & A — @ A, g A, S, e @ Re
5. BIM®R P —  Td Bd dic, I BEF DI

I DS FEl T STWFGER g e W1 i@ ST A R 5

3® g |

e A i —
1. IEfa® AW — TR Wa (Glycine May)
2. S e — o, Rl sfgR, fid—327, T,

g, fLa—472
3. 99 /TR, —  75-80 . /TR
4. SO /THR. —  30-35 fa4. /B

5 QIS & AIT — 25 5 ¥ 5 s db
I B T TF SRTIER g R W1 3@ AT AR 5
3w B |
rerar
g A Auor A — 39 O F dy =R § IR g @ Dy R
AR 10—12 AH. B Wa # IJur oar 2| 59 A § 25 wfoera
rferep SuoT el 71
Aoy Ry & ™ —
1. 99 R 9RT TR, HH AT BN 7 |
19



SN 17,

2. Tt A @ fory wwy et W B
3. U T8 A 0l TW YW T AR B ¥ U Folqd 8 O ©
I BIE FE T4 SRR fag R W13 S A AR5

3P wIa B |

ol F wERE B IR —
1. BREPRE | TTef @1 gfyg e Brfl 2|
2. RN ¥ Wl Sedl o B
3. T FT I 98 oI B |
4. & T BT g YSH HRaT B
=& @R § @™ —
1. 80 @e ¥ qa1 § Sfafer veref vd Ao A gy endl 2
2. Uye Tedl @) SRl § gig Fwa B
I DS Tl T STFGER g e W1 i@ ST A R 6
3i® U BT |
aperat
wftra § fewofy —
1. e & PR B X B —
1. TIfdd ot @ T § 99T oF At TllgH § BTIR Uh
HCH T
2. I8 WRSNIAMT &1 9% 8T 2
2. ol ¥ 09 @ -
1. I8 drf @ 9fg @ o) smawIs B B
2. TR & i § wFT o 71
3. gaT1 oy o P B qew@ — YU B FINST & §WT IS TS
e B T BET 2|
20



N 18.

1. I8 9 B Ia gRO e # gy, AMERE oAl @
forareier # gfg ot 21
2. AU &1 WA H f GUR BT 2|
3. I 31 Share ¥ gfg $ Fevawd 9 SOR A gy En B
I B T TF SRFIER g R W1 3@ d A A R 6

3F W B |

T BT A BT GO —

1. gafde 9M : AR URISTH (Cicer arietinum)

2. Saefier sfo : K — 468,94 SfI—114, K -4, K -5,

(@7 <) L — 550,991—209

3. dIoErR : St BT ATEF+HDEH (1.5 T + 15
1.5 I™) = 3 U™ a1 Ul fFam 9
% e 9 ST=IRT PR =Ry |

4. IUS /TIRIAR : 25—30 g/hect.

TR S o R u@e w8 g W1 3@ & 99 9 R 4
3 T B |

3reraT
TRH I - T AR TS A D PR B a8 SAl o A
9IS T W B Sl A T B A DY RR B | g dei § 1=
P S B TIR BT 8, S T BT U PEdl B |
TG <A -
1. U9 @ HES H U ACIR SUTed @l B ST 7 |
2. U N perd ofig & ol 2
IRATST W 2 3 T A W AW o R sfF @ w foram
R R 4 3P AT BN |
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